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HW-Vorrat Abschluss Möglichkeit 2:  

E_______________________ < A__________________________ 

dd 

Beispiel:  Anfangsbestand € 85 000,-, Endbestand € 75 000,-  

Berechnung:  

Endbestand:                                         € ________________  

Anfangsbestand                                   € ________________  

Bestandsv____________________:   € _________________  
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Buchungssatz: 

___________________________________ € ________________ 

 an ________________________________ € ________________ 
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Kontodarstellung: 

Schließe das Konto mit den obigen Angaben ab: 

 

https://www.mein-lernen.at/rechnungswesen/einkauf-verkauf/abschluss-des-kontos-handelswarenvorrat
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